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ORI45] 2AZ, SANY S S2HE A 5,000
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Hal: ME e
ol MBI 0 CEEED
_ _ MNuE o
SAN-ZH-SA(FA) - NFAY - BES Ol &+ 9K Ofl At ot Hws2
01 YerEAZ 2,000 2,500 A500
10 SAAHIBAS 1,000 1,500 500
OBBAYS BSH FHBS
0,000% *25% x4 3| 1,000
12 JlEtR A3 1,000 1,000 0
OBASD Z0IND 2y 50,0002 +20% 1,000
405 XtorzE S 6,000 9,500 A3,500
01 XMUSEHSH] 6,000 9,500 3,500
OAS=FI 2(10H) 6,000
~Tpel 54,014 54,59 A582
= E=-h) 54,014 54,59 A582
SHQHATD BRI (K 14,000 12,500 1,500
201 er2o| 6,000 5,500 500
01 At2tel| 6,000 5,500 500
OgurgH| 4,000
Q92  Hel+4R 4,000
o3zl 2,000
—JIERE YHEY 2,000
206 Mzl 8,000 6,000 2,000
01 Mzt 8,000 6,000 2,000
O+ZRY YHSE PY(RKEEH S) 8,000
222l (KHA) 40,014 42,096 22,082
101 QI 10,934 10,376 558
10 JIZH2ZNEES 10,934 10,376 558
OZANEIZEsZA Ho 10,934
-Jl=a 32,0009 +2102 1 6,720
—FExiag 32,0008 %422 1 1,344
— iRt 32,0008 %102 * 12 320
—52224+y 32,0002 +402 * 1.5+ 1% 1,920
—2raty| 3,000 x2102 12 630
201 er2o| 18,480 18,820 A340
01 At2tel| 11,480 9,820 1,660
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_ _ MNuE o
SN B SRA(SIH) - MBAY - BAS 0] & 4 01l & 01 s
Ooget=EHl 11,480
—&datx FA01H & SESTAM MA
280& x10,0000H 2,800
—CANE SEEEY ARES 7Y 7,000
— 2L . d3tx HArd-3 M
3,500 480 1,680
02 232944l 7,000 5,500 1,500
OZ232= ¥ HMAl 4,000
—SAEZSSELY 2l 4,000
OAIE &l =Xl 3,000
—SANE SSHEA 3,000
203 YRFLAH| 900 1,500 A 600
03 AHMFAHRFAH 900 1,500 A600
Ok ¥ SHH=-+ =282 JRFA 900
301 Lptsazg 9,700 11,400 A 1,700
10 dAIAMHIEAZ 2,400 2,400 0
OZ2=st&a BZESs 10,0003 *40E «63] 2,400
12 JIEI2 A3 7,300 9,000 A 1,700
OF4tH =+ Mele===8 FuRa
33,000,000 *1/10 3,300
O2LHel 42 4123
40,000,000& *1/10 4,000
s#3xd 9,057,610 7,255,222 1,802,388
s 500,000
L= 120,000
Al 8,437,610
a2 3,575,570 3,519,383 56,187
HAMAE (XA 3,575,570 3,519,383 56,187
101 el 167,250 154,483 12,767
10 JIZtNZ22NSEs 167,250 154,483 12,767
Ogdd L LHOIHXIX 7 =HE A 32,802
—JlEs 32,0003 210 3% 20, 160
— ==Y 32,0003 »42=+3H 4,032
—4ax=sg 32,000 10 »3YH 960
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B SHEY
el HAazg (ctel: &
SN C(BH) - NRAY - HES O] &k o8 Soe HlmE2
-5 32,000& *1.5%40 x3H 5,760
—2tAlH| 3,000&x210 x3H 1,890
ootelg tH=rs =B Ea 6,210
—Jl22 32,0002 102 *15H 4,800
—F=x=g 32,0003 x2=F=*15H 960
—2tAlH| 3,000&x10 ~15H 450
OstFTHI(SHS) 128,238
—Jl23 32,0003 90 33 95,040
—F=Xt=g 32,000& *185=+33Z 19,008
= PNE= 32,0003 x5 x33H 5,280
—2+AlH| 3,000& 90 »33H 8,910
201 Lpt3H| 123,320 114,500 8,820
At 2tell 103,320 87,500 15,820
OgBt=2H| 92,000
M0 #E3SE M 70,000
—dAES Y 6,000
— AWK & MYDIISE WA
300, 000& * 104 3,000
=MD EYHEI ADE MHF 6,000
—MgD| 2eliiE 28z N 5,000
=MD S 2t&E Mal ol 2,000
Or=1=i:] 7,320
—MgJ EEEI &5 2 HEL 3,000
- 2R 4,320
Oz 4,000
—HJI=2 S4iE =elsE AL Yxt 1,500
—ote MdD| otXIE EX Xz 2,500
02 2=2Z4| 20,000 27,000 AT,000
03322 & HA 3,000
—LHIAT Y AN EEE 3,000
OAl& &8l = XYl 7,000
—AqEg8A 2| 7,000
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SNBSS - MBAY - BES 0 & 24 i {imE=Eh
OXtet et| 10,000
—CHEATE ABS 10,000
203 HEF=4&H 4,500 6,000 A 1,500
03 AIMFAHRFAH 4,500 6,000 A 1,500
OME#I| F017| P2EA 1,800
OISR U BLHBX g3 2,700
207 SO0 18,000 20,000 A2,000
01 289 18,000 20,000 22,000
OMBHI| £ 28 &Y |IHIEA 18,000
301 et2d= 11,000 17,000 6,000
10 AIAHIZ& = 6,000 12,000 26,000
OAX B N2 6,000
12 JIEt2 43 5,000 5,000 0
OMgD] 2HEI ANB4=z 5,000
307 220l A 3,250,000 3,200,000 50,000
05 BIZtREZ 3,250,000 3,200,000 50,000
OMBHI| SRLT2UHE LY 3,250,000
405 XtobESHI 1,500 7,400 25,900
01 XA ESEH=HI 1,500 7,400 5,900
OEYSI 22 AI3t0let(20) 1,500
AEHES 254,960 232,702 22,258
S 20,000
Al 234,960
HUlY =H XA (Ex) 75,000 75,000 0
< 20,000
Al 55,000
301 utEa=s 75,000 75,000 0
= 20,000
Al 55,000
12 JIEt2 43 75,000 75,000 0
OmHHlY =& &= 30,000& *2,500& 75,000
= 20,000
Al 55,000
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_ _ _ Muo
SN B SRA(SIH) - MBAY - BAS Abod e HlnE2
K2 T2 E (XHH) 179,960 157,702 22,258
101 Q12| 53,400 50,502 2,898
10 JI2M22X 53,400 50,502 2,898
Ozt 53,400
—Jle3 32,0002 402 *25% 32,000
—F R 32,0002 %87 25 6,400
~Fu3z 32,0002 %102 *1.5+25% 12,000
—2rAly 3,0002 +402 25 3,000
201 e 49,760 45,700 4,060
01 AtR22 32,260 26,700 5,560
Ogetsgt| 31,260
—18188 ¥ SASHIIS E0JIE 10,000
~SAHZ2R HIIZ4+4E YRES MN
2102 *14,00004 *43] 11,760
~—SSW NS WMSEX 7
3,00024+1,500% 4,500
~HEEE 2240 L ENE M 5,000
oYxz 1,000
—HUI2 AR AR 1,000
02 ZZ2YH 17,500 19,000 A1,500
OZBZe=2 2 HA 9,500
—SA25 HIIZ2 IXAM 28R 8,000
—13188 S #$IHE RWE 1,500
OAN&=H Sl 8,000
—SAT HIAANL sX B 8,000
203 ARFXY| 2,400 2,000 400
03 ANHEMYL=XY| 2,400 2,000 400
OMes 2t 2= 2,400
206 Mzl 50,000 36,500 13,500
IEEEI 50,000 36,500 13,500
OsASRH £8J 7 18,000
ongs 29 17,000
omMgs=e e 15,000
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ool MHEWE S (£ &%)
SNBSS - HRAY - BHES 0 & o4 e HIRZE2
01 YsrBAZ 24,400 19,000 5,400
10 SAAHIZAS 6,400 6,400 0
OMYI| B2l40 L WEE 22 1S
10,0002 *167H S 21 S +40% 6,400
12 JlEEAS 18,000 12,600 5,400
OMEE8E +TF2Z
40,0002 500 %0.4+23] 16,000
O1ZSE AEAH SIBAYE ADZAZ
20,0002 * 10074 4 2,000
B AIA 5,227,080 3,508, 137 1,723,943
= 500,000
= 100,000
Al 4,627,080
SoAE FTH(2E) 1,795,000 0 1,795,000
= 500,000
= 100,000
Al 1,195,000
401 A&HILLHH 1,795,000 0 1,795,000
= 500,000
= 100,000
Al 1,195,000
01 Al&H] 1,780,000 0 1,780,000
ORASSHAIL X4 1,780,000
2 500,000
= 100,000
Al 1,180,000
03 Al&=CHY] 15,000 0 15,000
ORASFHAIL X4 15,000
B A& 2] (XHH) 2,728,580 2,624,237 104,343
101 Q12| 25,416 24,059 1,357
10 JIZH22NERS 25,416 24,059 1,357
OMESNEY BZ22 I A 25,416
—J1=3 32,0002 * 1002 +6 19,200
—FExtag 32,0008 *207E *6 2 3,840
—ERag 32,0002 x32 x6% 576
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— Al 3,0002+1002 6% 1,800
201 syl 189,552 206,605 ~17,083
01 AFR22lt] 32,702 49,755 A17,053
Oggr4 gl 23,600
—HIISHE Y 545 +2 LA 8,000
—HOIZHEYE 2 NEF 2SS 15,000
— TN LS P 600
O2gsg 840
N EEEE R -ES
70,0002 62 23| 840
oYxz 8,262
—AME HEE SE8 IHAT
10,0002 +780m 7,800
~DEHIIZSHYE =X YXE
2,00021 %231 462
2 ZZ2YHI 56,850 156,850 0
OZBZe2 2 HA 36,400
—EFUE ®IIQ3 32,400
REES 1,500, 0002 * 122 18,000
ENEEE 1,000, 0002 * 122 12,000
DE.INE 200,0002! * 122 2,400
—X B2 L 2AH 3,000
—EBFWERES 1,000
OI=E=L 7,500
—EAME 4,000
—HEE Uy 3,500
OA&ZYIS Y| 39,950
—SAHE ALZHIRN 20,000
—ASRNH(eIS, 25+ HelH)
2,0002+1, 100 2,200
—HYE A2 RX 2|
300,000% 33| 900
—HE A2 2,00024+1,425m 2,850
~THEEE J2I1H SN2
2,000,00024 +7CH 14,000
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M2 #Yxy
ol B2 Al (St5: & 2)
_ _ SIEN
SN B SRA(SIH) - MBAY - BAS 0l &k 24 0l ot o ClImEE
SECRET 73,000
—BAMEL XY 8,000
-zl | 60,000
—duzywel 5| 5,000
206 THEH| 39,755 39,595 160
01 M=l 39,755 39,595 160
OFE4 HeloE (L) 29,250
—gaeR0ls 3502 * 150kg #3002 15,750
— b AL 1,00021 * 15kg*3002 4,500
—DEXNSTH 4,00021 #2kg *3002 2,400
—e3H 6, 00021 +2kg ¥3002 3,600
—AZH 5,000 #2kg ¥3002 3,000
OsYHE Yo%E Y 5,700
—olotE AER 30,0002 %1 £ *302 2,700
—228 MEX 10,0002 %2 § #1502 3,000
OBZUEH PSS U HE) REPL 2,080
—5eR 480
-3R 1,600
Ogsizs 38, 50021 50 1,925
OXZ4 YEHYR %42 200, 000! *43] 800
207 1Ll 157,000 30,000 127,000
NBEEEET] 57,000 30,000 127,000
OAAZEE SAYF TA 73,000
OANSTINYE =¥ SAYEIA
42,000, 0002 +27H 84,000
307 eI2t0lH 2,316,857 2,293,978 22,879
05 oIATIES 2,316,857 2,293,978 22,879
OMESHEY FI|oEDe] e
2400002 * 122 2,880
OHIIZA2AY 91 D22 2,313,977
BHALADF YRR (XA 703,500 878,900 A 175,400
01 YL 6,400 6,400 0
10 BAMHENS 6,400 6,400 0
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Ha: BAXN
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_ _ _ Muo
SAN-ZH-SA(FA) - NFAY - BES Ol &+ 9K Ofl At ot HwsZ
OBHEL 212 XS0 HAX At
100, 00024 *64% 6,400
307 21201 146,300 141,000 5,300
02 QIABNEZE 146,300 141,000 5,300
OHIISEE X 20 N 84,500
—MYD| BE BOHY 845,000, 000! *10% 84,500
OUME F24T 29|
2,20021+80% +252 * 122 52,800
OUME 2H0I44E RA22IH]
750,000% * 122 9,000
401 AEHI L2 50,000 50,000 0
01 AZH] 50,000 50,000 0
O=zsor Iyl 50,000
402 QI XHZOIH 500,000 500,000 0
EEEEEES 500,000 500,000 0
OHIISA2E FOIXI R (6 7) 500,000
405 TAHF S 800 1,500 AT00
01 XMUSEHSH] 800 1,500 A700
Ol E>] 400,0002 *2CH 800
BH2AAY (BB 22D 1,286,450 1,359,051 AT72,601
ol 2yl 1,180,503 1,258,973 78,470
ol2i 2 2| (XHA) 1,180,503 1,258,973 AT78,470
101 o121l 1,176,303 1,254,773 78,470
09 RIHA2EXSS 1,176,303 1,252,461 76,158
OBH0ISHA (2FH-481|) 194,831
=z 843, 00021 62 x0 45,522
—Jlgag (843,002 4570, 0002 )92 12,717
—3asyg
(844,000 +570,0002 )*0. 5+9& 6,363
. EL=EL] (843,0008+570, 0002 )92 12,717
sty 4,320
TESY 40,0002 62 9% 2,160
=% 20,0008 *62 *18% 2,160
—Shgeay 90,0002 62 9% 4,860
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R EEFEET; 70,0002 +6 2 +0 3,780
—Zoug A 160, 000! 62 9% 8,640
S CES 110,000 *6 2 *9% 5,940
—REEZY 140, 000! 62 9% 7,560
R ESL]
(844,00024+570,0008! )+0.6+9% 7,636
—AIRtS 24
10, 1382 *40A| 24 ¥6 2 <0 21,899
—oRI2esy 3,37021 54 Al 2462 9% 9,827
—sYzesg 10, 14021 ¥56 Al 246 2 <0 30,664
— Tt BESY 386
2R1EX 385,200 1% 386
— Ol =) 12,000
o= 50,0002 ¥322 x33] 4,800
OFZ £ 25,0002 32 * 18] 800
ol 5 50,0002 ¥32% %23 3,200
20| 50,0002 32 *13] 1,600
RS 50,0002 ¥32% * 13l 1,600
O=Z0I3H8 (2 F-5t81|) 52,054
—Jle3 822, 480 62 +7% 34,545
S, (822, 720944570,0002 )+7% 9,750
—334+g
(822,86024+570,000 )+0.5+7% 4,876
L
(822,57024+570,0008! )+1.5+7% 14,602
=4y 3,360
b < Xt 40,0002 62 +7% 1,680
=R 20,0002 62 143 1,680
—ssesg 90,0002 +6 2 7 3,780
XY 70,0002 +6 2 <7 2,940
— g A 160, 000! 62 +7% 6,720
S EES 110,000 *6 2 +7% 4,620
—~REEZY 140, 000! *62 +7% 5,880




AN SZ2tel
I AL (P 2e)
chl: QA2 A
SN HB SR (BIH) - A - B S 01l &t o S
. = ° T ° - = (L] 0:”/.:"%
—HEEOH]
(822,860 +570,000& )*0.6+7Y 5,851
—AlZtel 224y
9,990& *40A| 2+ x6E 7 H 16,784
— 022 3,330 & b4 A 2H+6E +7H 7,553
-2 9,990& b6 Al 2t+6F *7H 23,497
—dxiragsit=g 51,8003 19 +7H 6,890
— s EErE 386
MANA =N 385,200& x1H 386
Otz (S¢S) 714,058
—Jl22 863,550 128 «17% 176,165
—J|Z=g (863,590 570,000 ) x2+17Y 48,743
32 (863,6502+570,000& )+ 17Y 24,373
— M= e
(863,600 +570,000& )*2.5+17Y 60,928
— === 16,320
HH < Xt 40,0003 x 128 *174H 8,160
=Hl= 20,0003 123 »34H 8,160
—SEg2E 90,000& *12& x17& 18,360
—HAEHA+Y 70,0003 x12& 1744 14,280
—Hugaly| 160,000& *12& x17H 32,640
—JHAIE 2| 110,000 x12& * 17 22,440
— w2 Xl 140,000& =123 x17H 28,560
—HEEH
(863,630&+570,000& )*1.2+17Y 29,247
—Al2tel 224y
10,290 *40A| 2+ 128 * 17 83,967
— 0222 3,430R& 54 A 2hx 128+ 17H 37,785
—guae4y
10,2902 56 Al 2+ 122 «17H 117,553
—XHEy ExY 2,697
MANA =N 385,200 x7H 2,697
OstZdE 29 115,360
== 34,0003 *1.055%250 6 53,805
— ==Y 34,000% 526 10,608




S sF32e
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SN (B) - MBEAY - B2 Aol Soe HRZ2
— Xt 34,000& x15d x6H 3,060
—J| Y 53,805,000 x4/ 12 17,935
—5422Y 51,000& x52 x6H 15,912
— =4l 120,000 x12& x6H 8,640
—nWEEXH| 50,000 x6& x6H 1,800
—=&0Yl 50,000& 122 x6H 3,600
203 YRFEH| 4,200 4,200 0
04 ENSIYERF=EHI 4,200 4,200 0
L VLT EES 4,200
Jl2& | 105,947 100,078 5,869
J12Z Y (XA 105,947 100,078 5,869
201 LErEIH| 39,307 35,278 4,029
01 AtR2t2ld] 39,307 35,278 4,029
OFAM2EIIEE | 39,307
202 O4H| 66,640 64,800 1,840
01 =2WAbI 62,320 61,200 1,120
O=2L Al 62,320
02 EHONHI 4,320 3,600 720
O NN I 4,320
MRES (st 22) 103,200 110,200 AT7,000
= 2,700
Al 100,500
RS PNES 103,200 110,200 AT,000
= 2,700
Al 100,500
BEINE(EX) 103,200 110,200 AT,000
= 2,700
Al 100,500
311 X+ 30| Atatst 16,000 23,000 A7,000
= 2,700
Al 13,300
04 ZSAEEXUS0IXAE 16,000 23,000 AT7,000
OF4&H=XelAlE X2 0l Kokt 16,000
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